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the correct

|. Match List-I with List-1l and select

given below.
List-1I

(States) (Highest peaks)

A. Tamil Nadu 1. Dhoopgarh

B. Rajasthan 2. Saramatl

C. Nagaland 3. Guru Shikhar
4

D. Madhya Pradesh . Doda Betta
Cod

answer using the code
List-I

(@)
(b)
Ac)

e:
A
3
1
4
d 2

- W N d W

C
1
4
2
3

A~ W NUO

‘Leopold Matrix’ is associated with

(a) Weather Forecasting

(b) Disaster Management

(c) Environmental Impact Assessment
Method

(d) Environmental Law

The Joint Sitting of the Indian Parliament for
transacting a legislative business is presided
over by

(a) The President of India
(b) The senior most Member of Parliament
(c) The Chairman of the Rajya Sabha

i (dy'The Speaker of the Lok Sabha

4. The term ‘Office of Profit’ has been defined

Constitution

(b) Parliament
(c) Supreme Court
(d) Union Council of Ministers

While deciding any question relating to the
disqualification of a Member of Parliament
the President shall obtain the opinion of ’
(a) Election Commission

(b) Chief Justice of India

(c) Attorney General

})’Spcaker of the Lok Sabha
A
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6.

10.

Soyabean seed containg

(a) 20% protein and 40% oj]
(b) 40% protein ang 10% oil
(c) 40% protein ang 20% oil
(d) 20% protein and 20% oil

As per the results of ‘Swachh Sarveksh

: a
2020, announced by Ministry of Housing anlc;
Urban Affal‘rs on 20" August 2020, which is the
Cleanest City in Uttar Pradesh ?

(a) Agra (b) Gaziabad

(c) Lucknow __Ad) Prayagraj

How many teachers from Uttar Pradesh were
selected for ‘National Award’ on Teachers day
5t Sept., 2020 ?

(a) Six
_le) Four

(b) Five
(d) Three

‘Poshan Maah’was celebrated by Government
of India in the year 2020, in which of the
following months ?

(a) September

(b) August

(c) July

(d) June

Match List-I with List-II and choose the
correct answer using the code given below.

List-I List-II
(Text) (Writer)
A. Kiratarjuniyam 1. Dax‘ush
B. Dashakumar 2. Kalidas
Charitam .
i 3. Bharavi
Charitam
g. 3iii2rr:lirvashiyam 4, Ashvaghosha
Code :
A B C D
@ 3 4 1 2
b) 3 1 4 i
(c) 2 3 1
(d 1 3 2 4
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g F A § ar e 2
(a) 20% YR @ 40% A
(b) 40% WEH & 10% o
(c) 40% TR W& 20% A
(d) 20% WA @ 20%
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13.

A large tank near Mahoba, temples at
Ajaygarh and Mahoba and city of Rajavasini
were built by a Chandella King

(b) Vakpati

(d) Jayashalkti

(a) Nannuk
(c) Rahil

Which of the following Rights a cultivator
enjoyed on his own land during the Mughal
period ?

(a) Right to mortgage only

(b) Right to sell and gift

(c) Right to mortgage and gift

(d) All the above rights

Match List-1 with List-II and select the correct

answer using the code given below.
List-I List-II
(Tribes) (States)

A. Tharus 1. Madhya Pradesh

B. Todas 2. Jharkhand

C. Santhal 3. Uttarakhand

D. Gond 4. Tamil Nadu

Code :
A B C D

@ 1 3 4 2

b) 4 2 1 3

0 2 1 34

\/jd) 3 4 2@t

14. Match List-I with List-II and select the correct

answer using the code given below.

List-1 List-1I
A. Nokrek 1. Uttarakhand
B. Agasthyamalai 2. Arunachal
Pradesh
C. Nandadevi 3. Kerala
D. Dehang Debang 4. Meghalaya
Code :
A B C D
g4 3 1 2
) 4 3 2 1
d 2 3 4 1
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16.

17,

18.

19.

20.

A

States get share of the revenue from
(a) Income Tax

(b) Customs Revenue

(e) ‘Excise Tax

(d) Surcharge on Income Tax

Which Article of the Indian Constitution
empowers Parliament to make law for
implementing international agreements ?

(a) Article 249 (b) Article 250
(c) Article 252 (d) Article 253

Who appoints the acting Chief Justice of
India ?

(@) Chief Justice of India
-Chief Justice of India with previous
consent of the President
(c) President of India

(d) President in consultation with the Chief
Justice of India

Which of the following is NOT a Kharif crop ?

(a) Soyabean
(b) Lentil

(c) Cotton

(d) Pigeon pea

The rotation intensity of Maize-Mustard-
Mung crop is
(a) 100%
(c) 300%

\,(b)‘ 200%
(d) 400%

‘Five Star Village Scheme’ started by
Government of India in September 2020
relates to which one of the following ?

/(aYElectricity Supply

(b) Postal Service Schemes
(c) Health Services
(d) Primary Education

15.

16.
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T =t T 1 Wit fiyemar 2
(a) STER
(b) HwT-Ies T ¥
(c) 3T T/
(d) 3 Jifew @
W GfeUm #1 F19-3 a8y que %
FOE TIgAl A0 FA & forw fafy fmfor
1 Wi WgH AT R ?
(a) TR 249 (b) 3T=BT 250
(c) F=BE 252 (d) T=8% 253
WA & HHaTeS T AT Hi gl e
HATR ?

(a) ¥R & q&T =i
(b) Tegafa it qd Wil & YRd +1 §&4
11N

(c) ¥ & Tgafa
(d) ¥Rd & qeg =y & sl § ety

o ddsh-w @ el saa @ 2 7
(a) HiaTEA

(b) FEY
(c) U

(d) I
TR - T - BHE H FEA 9% TEAT 2

(a) 100%
(c) 300%

(b) 200%

(d) 400%

WG TR g1 Rraar 2020 3 y& 6 T “wra =R
e Ao Frefafed 3 F fred gafa 2 7

(@) formga Imgfd

(b) T FaT Frer

(c) =g Fan

(d) st e
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Who won the US Open 2020, Mens Tennis
Singles Title on 14th September, 2020 ?

(a) Alex Zverev

(b) Dominic Thiem
\ v(c) D. Medvedev

(d) P. C. Busta

22. Which of the following pairs is NOT correctly

matched ?
Ancient name
of the Cities
(a) Esipattan -

Modern name
of the Cities

Saranath
(b) Dashapur - Mandsor
(c) Banvasi - Talkad
(d) Mahoday - Kannauj

23. The early farming site located on the bank

of lake is

(a) Mehargarh
(b) Lahuradeva
(¢) Chirand

(d) T. Narsipur

24. Author of the ‘Dastane Mazahib’ which

discusses about the Din-i-llahi of Akbar, was
(a) Mohammad Rabbani
(b) Mohsin Faani
._ey Badauni
(d) Af

25. Who was appointed the Minister of

‘Ministry of Rehabilitation’ set up on
06 September, 1947 ?
(@) S. P. Mukerji

\/(h')’Sardar Vallabhabhai Patel

(c) J. L. Nehru
(d) K. C. Niyogi

21.
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26. An irrigation channel designed by Lacey’s
theory has a mean velocity of 1.5 m /s. The
silt factor is unity. The hydraulic mean
radius will be
(a) 2.5m (b) 1.5m

A 5:625 m (d) 6.525 m

27. At a hydraulic jump, the depths at the two
sides are 0.4 m and 1.4 m, the head loss in

the jump is
_ef 1.0m (b) 0.9 m
(c) 0.7 m (d) 0.45m

28. The contact pressure P, tyre pressure P and
rigidity factor R are related by

P P
—=R B =S
(@) P, (b) = R
() PxP,=R (d) R=(PxP,)

29. If modulus of elasticity of the subgrade is
25 MPa, then deflection at the surface of
flexible pavement due to a wheel load of
40 kN and a tyre pressure of 0.6 MPa will be
(@) 5.24 mm (b) 6.20 mm
(c) 7.40 mm (d) 8.32 mm

30. The design speed of a traffic lane ‘is
70 Kmph. What is the theoretical capacity
per hour taking the total reaction time to
be 2 seconds and average length of vehicle
as8m?

(a) 828 (b) 728
(c) 628 (d) 528

31. Calculate the stopping sight distance, gIVer

that velocity v = 100 Kmph and friction

f=0.10.

w(ﬁﬁ64 m (b) 563 m

(c) 860 m (d) 840m

32. The following items ar¢ ca .t Mark te
selection of site for an airp
incorrect option.
irport
M Class of airpo _
(b) Visibility at airport site
(c) Altitude .
(d) Runway orientation , )

\ :
) - ——
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»
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ot % g & e e w R wme s
3ftea nfad (velocity) 1.5 m/s 2, fiee T
gﬂ ? | TH TYGH (hydraulic) 3hga =

(a) 2.5 m (b) 1.5m

(c) 5.625 m (d) 6.525 m

TF FIEgIeih 99 H & WSS W R 0.4 m 3K
1.4 m# | 59 ¥ 32 & THAH g

(a) 1.0 m (b) 0.9 m

(c) 0.7 m (d) 0.45m

Hysh qEE P, T TWE P 9UT @Al (rigidity)
i R 6w & wafa 2 7

’ B _
(@) 1)C_R B, = =R

—_

() PxP_=R (d) R=(PxP.)

If IUHIT 1 FATERAT WI9TH 25 MPa &, T Tiet
FeH b TaE W 40 kN F izl WR 71 0.6 MPa

¥ TR <EE & S faggor gm
(a) 5.24 mm (b) 6.20 mm
(c) 7.40 mm (d) 8.32 mm

T A SR i uieerd 9 70 Kmph 2 |
vt iR T 2 s au I B sl

8 viex o g, wfd we Agifers g FE 7
(a) 828 (b) 728
(c) 628 (d) 528

FETES Uhd Tl {@ 2’@ (stopping sight
distance) i oM F fF@H 3 v = 100 Kmph
S gdo £=0.10%8 |

(a) 464 m (b) 563 m

(c) 860 m (d) 840 m

gaéagm%am%mﬁq%ﬁaaﬁwﬁm
forame R ST & | TTeTa fahe fafRE |
(a)ﬁ“’g\“”rgaﬁraIi

(b) T 3@ it T N T

(c) T8

(d) @9 i "
1\1*
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33. The order in which a road is built as from
bottom to top
(@) subsoil, base, subgrade, subbase
(b) base, subsoil, subgrade, subbasff
(¢) subbase, base, subgrade, subsoil

i /Ld')' ‘subsoil, subgrade, subbase, base

34. A vehicle moving at 50 Km/h speed was
stopped by applying brakes and the length f)f
the skid marks was 18 m. If the average skid
resistance of the pavement is 0.75, the brake
efficiency (in %) of the test vehicle will be
(@) 71.12% (b) 72.83%

(c) 73.48% (d) 74.62%

35. For a sleeper density of (n + 5) the number
of sleepers required for constructing a Broad
Gauge (B.G.) railway track of length 650 m
is given by -

(a) 1000 /f{ 900
(c) 800 (d) 700

36. The type of the camber which is best suited

for cement concrete pavement is
__A#8) Straight line

(b) Parabolic

(c) Elliptical

(d) Composite

37. Which one is NOT g road pattern ?
(a) Block pattern
(b) Star and block pattern
(c) Hexagonal pattern

: /(df Diamond pattern

38. If the methy] orange alkalinity of water
equals or fexceeds total hardness, all of the
hardness is

M) Non-carbonate hardnegg
(b) Carbonate hardnesg
(c) Pseudo hardnesg
(d) Negative non-carbonate hardnegg

39. When waste water is disposed of intog Minnin
stream, four zones are formed. Which o
of the following zones, will the Minimum | ne
of dissolved oxygen be founqd » -
(@) Zone of degradation
(b) Zone of active decomposition.

Zone of recovery -
(d) Zone of clear water
A
-8.

33.

34,
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36.

37.

38.

39.

(a) 71.12% (b) 72.83%

(c) 73.48% (d) 74.62%
(n+5)wﬁqta=ra&af‘aQ650mammﬁa
(B.G.)h&hmﬁ%mmﬁmm
(a) 1000 (b) 900

(c) 800 (d) 700
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T THN 2

(a) Hift Yar

(b) JAIFTTHR (Parabolic)
(c) FHFAFR (Elliptical)
(d) frfra

e 3 8 #-oft wew vafr @ 2 2

(a) =TT TGl

(b) ®R 3R =TT vgfa

(d) T vgfa

e 77t 3 e (methy) A vt et v
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(b) FTETHE FHBRAI

(c) firem e

(d) SvTeaes o FrEie Hardl
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Sieior 1 T HH T A 7
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(b)mﬁmﬂai
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40. Hairs of human nose can remove all the
particles of size greater than

(a) 1 micron +~b) 10 micron
(c) 100 micron (d) None of these

41. Match List - [ with List - II and select the
correct answer using the codes given below

the lists :
List -1 List - II

(Treatment Unit) (Detention Time)
A. Grit chamber 1. Six hours
B. Primary sedimentation 2. Two minutes
C. Activated sludge 3. Two hours
D. Sludge digestion 4. Twenty days
Codes :

A B C D

(a) 3 1 4 2
(b) 2 3 1 4

(c) 2 1 3 4
(d) 1 2 3 4

42. The best system for distribution of water in
a randomly planned city is
_kg) Dead end system (b) Grid iron system
(c) Ring system (d) Radial system

43. Which one of the following type of transition
curves is mostly used in Indian Railways ?
~—{4) Cubic parabola
mniscate
(c) Cubic spiral
(d) Eular’s spiral

44. The Govt. of India, appointed the National
Transport Policy Committee in the year

(a) 1978 (b) 1973
AC) 1956 (@ 1943
45. Flexible pavement distribute the wheel
load

(a) Directly to subgrade

Through a set of layers to the s
(c) Through structural action
(d) None of the above

46. The total correction for
and gradient for a run

ubgrade

: ture
elevation tempera
way, should NOT L

more than &
(a) 35% 7 25 °/°
() 15% (d) 10%

ENGT - 04
40. WI¥ % T H 9 ho F 92 U ¥ mft il
F F HFAT R 7
(a) 1 TTSHA (b) 10 WTERF
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(c) 100 TTEHRA (d) = & +7E T

el — 11 el - 11 @ e o) sw Preffiaa
Hehd! 1 AN HLd §Y AT
T -1 gt - 11
(STER 3HT3) (@ &1 am)
A. THEH FE 1. 692
B. wrufies yg@res 2. 2 fome
C. dfshada 3 3.29%2
D. 39 9T=H 4,20 fer
&
A B C D
D B 4 2
ol 1. &
(c) 2 1 3» Ng
i1® 2 §J4 |
Satdie 27 @ o9 yigl ¥ oo foaa 6 ey s

worreft Frrferftaa 2
() == Toa somet (b) WeR (Brg 3mmre) womeht
(c) Tor womeht (d) 37 gt

Trafafiga d @ $l9-a1 GAw 9% (transition
curve) YA &9 § gE&I4: s foa s @ 7
(a) ¥ e (Cubic parabola)

(b) Sifafhe (Lemniscate)

(c) ¥ $&efl (Cubic spiral)

(d) R Feeht (Eular’s spiral)

IR T g U yiaed Hfifa affa 1 e
o= ad & o mam an

(a) 1978 (b) 1973

(c) 1956 (d) 1943

refren gfem # fen wR A fafa w2

(a) SegETd: IYHIE (FE-U8) T

(b) T % HYg WA ¥ IHE (F-IE) T

(c) HEHTH HHaTS % ATeAH &

(d) Iud o / HIg A& .

0 ¥ g e g S @ & fore e A
frefefa § @ atfus 7l g1 feT

(a) 35% (b) 25%

(c) 15% (d) 10%
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48.
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52:
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The Population of a town in ihrec consecutive
years are 5000, 7000 and 8400, respectively.
The pPopulation of the town in the fourth
f:onsecutive year according to the Geometric
Increase method is
(a) 9500

(c) 10100

(b) 9800
(@) 10920

PH = 4 when compared to pH = 7, will be
more acidic by
(a) 3 times

() 1000 times

(b) 300 times
(d) None of these

One litre of sewage when allowed to settle
for 30 minutes gives a sludge volume
of 30 cm?. If the dry weight of this sludge is
3.0 gms, then the sludge volume Index will be
(a) 20 (b) 30

yo (d) 40

High COD to BOD ratio of an organic

pollutant represents

{a) High biodegradability of the pollutant

(b) Low biodegradability of the pollutant

(c) Presence of free oxygen for aerobic
decomposition

(d) Presence of toxic material in the
pollutant

Which of the following treatment process are
necessary for the removing suspended solid
from water ?

1. Coagulation
3. Flocculation
Select the correct answer using the codes

2. Sedimentation
4. Disinfection

given below :
(a) 1 and 2
(c) 2 and 4

b)) 1,2 and 3
(d) 1 and 4

If the coliform bacteria 1s present in a
sample of water, then the coliform test to
be conducted is
i. Presumptive coliform test
ii. Confirmed coliform test
iii. Completed coliform test
The correct answer is
(a) Only (1) (b) Both (i) and (1)
(c) Both (i) and (i) Jﬂh All (i), (1) and (i13)

-10-
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U vt ) AEEan A4 @man a9 § 5000, 7000
a4l 8400 wH9: R | 97 ) FAEEE Y TER
ad i surfadi 9fg woreh & sgam #of

(a) 9500 (b) 9800

() 10100 (d) 10920

F@ pH =~ 4 & g1 pH - 7 B ] A8, A w2
fapan wfus suefrg #im 7

(a) 3T (b) 300 71

(c) 1000 71 (d) 394 7 #1E T4

s dftet diawt 30 g2 4 30 cm® wmEAT w1 =a
TR | g = F A 9 3.0 gms 2, A1 =7

HAcd Gebih B
(a) 20 (b) 30
(c) 10 (d) 40

firet s wqwe &1 3=9 COD @ BOD 39

frefta =t

(a) ¥E¥ & I=9 FAa-Frfwmwa #

(b)m%ﬁnﬂa—ﬁwﬁmﬁ

(c) T FHgweA & forg g e H
Igfefa =i

(d) 55 ¥ faeres wered <l H

1 geR & forg s R 7

1. e 2. ¥4

3. FH 4. fagwsw
ﬁmmﬁsmwﬁﬂmmm?

(a) 1 3M 2 b) 1,233

(c) 2 34 () 1 ¥R 4
nﬁmmﬂ%maﬂmmmam.
ﬁﬁﬂfﬂhﬂﬁﬂﬂwﬁqamfmmg

1. :ﬁimﬁﬂuﬁpﬁwiwﬁm

i, fafewaa wrefrard wlig

i, qol el waaer
adl 3 R

(a) QWH ()] z
(©) () aun () gl

(b) (1) @1 (i) Ll
) (i), (i) e (i) @
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S3.

54.

5S5.

56.

57.

58.

i

The relative stability of a sewage sample
whose D.O. equals the total OXygen required
to satisfy its BOD is

(a) Zero (b) 1%

(c) 100% (d) Infinity

Which of the following parameters are
employed in the design of Trickling filter ?

1. Hydraulic loading rate

2. Organic loading rate

3. Detention time

4. Weir loading rate

(@ 1,2, 3and 4 (b) 1 and 2 only
) 2 and 3 only (d) 3 and 4 only

The slope of a 1.0 m diameter concrete sewer
laid at a slope of 1 in 1000 develops a velocity
of 1 m/second, when flowing full. When it is
flowing half full, the velocity of flow through
the sewer will be

(a) 0.5 m/sec _Ab) 1.0 m/sec
(c) Mm/sec (d) 2.0 m/sec

Self purification of running streams may be
due to
(a) Sedimentation, Oxidation and
Coagulation
ilution, Sedimentation and Oxidation
(c) Dilution, Sedimentation and
Coagulation
(d) Dilution, Oxidation and Coagulation

If the height of a tower is 50 m, flying height
of the aircraft above the base is 5000 m and
the image of the top of the tower is 20 cm,
from the principal point, what will be the
height displacement ?

(a) 2 cm (b) 1 cm

Joy0.2 cm (d) 0.2m

The perpendicular offset from a tangent to
the junction of transition curve and circular
curve is equal to

53.

54.

55.

56.

57.

58.

ENGT - 04

Hidw o A i e o afer st
3H BOD & €I FW & fer. stravaa e
artedis % aat e &

(a) [ (b) 1%

(c) 100% (d) Faar

fi=fafiga § @ FF-w1 vgEl fogem free
(Trickling filter) % 9REASHT (Design) & frfm & 7
1. g4 WRY G (Hydraulic loading rate)

2. e 9RO @ (Organic loading rate)

3. 3EUY a9Y (Detention time)

4. g vy gt (Weir loading rate)

(@) 1,2, 3 3 4 (b) a1 3R 2

(c) Shaa 2 3T 3 (d) Few 3 3N 4

1.0 m S® F1 Fishie dRw & ga 1000 o
1 ST W &1 g @ qUT 9@ I§ U wgal @, al
lm/sec‘ﬂ%ﬂwméltﬁagmm
8, a1 Wer § 58" %1 a7 &

(a) 0.5 m/sec (b) 1.0 m/sec

(c) +2.0 m/sec (d) 2.0 m/sec

gt g8 G w1 W@ Y fafafaa % srw
e 2

() IETETEH, JHTFdTHT qUT Thed

(b) T, HETE qUT Hiad o

(c) TEHT, JFETG TUT TS

(d) TR, ST qUT TG

afe 35 #1 F=1¢ 50 m, TS e F1 ITgH I
5000 m (3R &) 8 a1 ot & firew 1 wfdfew,
7@ farg ¥ 20 cm 2, @ IoTA1 WA B
gm ?

(a) 2 cm (b) 1 cm

(c) 0.2 cm (d) 0.2m

st T @ afE g0 @ au g 9% & e
ﬁgwm@aﬁr(oﬂseumaﬁ?ﬁa’tm

(& L = G560 956 Y T

(Where L = Length of transition curve _ -
R = Radius of the circular curve) R ii" ' fom) g
L L @) — (b) 5=
(a) R (b) 24R 6R 24: R
LQ L2 ( ) IJ'2 (d) Lz
e
= 24R
© &R M 2R 6R
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S9. Ina survey, A and B are two points. Already

\.

60.

61.

62.

63.

64.

65.

located with respect to A and B, point Cis

located by taking two reading and then line
CD is measured. The D is a point on AB. The
line CD is known as

(a) Base line

(b) Check line

(e) Tie line

(d) Additional line

A tunnel should NOT be constructed along
(a) Strike direction
Dip direction
(c) Oblique to the bed altitude
(d) Both along dip and strike direction

Refraction error is least in case of
a) Stadia tacheometry

(b) Tangential tacheometry

(c) Subtense bar tacheometry

(d) Omnimeters

If two triangulation signals of 6.75 m height
each are to be just visible over ground mutually,
what is the maximum distance between their
locations on the ground surface ?

10 km (b) 20 km
(c) 30 km (d) SO km

The system that uses the sun as a source
of electromagnetic energy and records the
naturally radiated and reflected energy from
the object is called

\.(a’)/ Geographical Information System (GIS)
(b) Global Positioning System (GPS)
(c) Passive Remote Sensing (PRS)
(d) Active Remote Sensing (ARS)

The ratio of curvature correction to that of
refraction is

(a) 3
(c) 14

(b) 12
N7

In a vertical curve, an upgrade of 2.0% is
followed by a downgrade of 2.0%. The rate
of change of grade is 0.05% per 20 m chain.
The length of the vertical curve will be

(a) 800 m \li;))OOOm
(c) 1200 m 1600 m
f“/\'}\
& \l i O b d -
as 0.0 6o
i G ?\
S r-l(\ { \

60.

01.

62.

63.

64.

65.
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59. U wdlgw A, A 3B fag & 1 A 3t B & anig

afeg cama 3

2w comﬁﬁe%ﬁ@?&?@
DR | @ CD % i am & S o 3
(a) 3R @I (Base line)

(b) SiTE X@T (Check line)

(c) 218 X@1 (Tie line)

(d) et T

UhH U H P % srade T8 S iy
(a)?ﬁ'ﬂﬁ?ﬁﬁmﬁ

(b) 9= <t fewm o

(c) T &1 Furs ¥ foedas foun &

(d) = aur Afoers Sl & g o §

s fe Prerferfian & o el @9 2
(a) Efea S

(b) Wﬁ’ﬂ@ (Tangential) SHId

(c) g™ (Subtense) R I

(d) (Omnimeters)

af2 9! 6.75 m 91 o Q) Frenrofiad weha 3@
# sf % W A Pl 3@ 1 w6 8, @ i A
TaE R I A % vyl Hi st gt gl
(a) 10 km (b) 20 km

(c) 30 km (d) 50 km

1 ) T fagga - g T
;ngﬁm%%wmﬁwmm
mem%ﬁm%
(a)WWM(GIS)
(b)gﬁaaswrﬁmm'cﬁ((‘rl’sl
(C)ﬁ@,—qqgwﬁ%zﬂ (PRS)
(d)mq@xdﬁﬂ (ARS)

il 8

2
@) 3 (b) 1

(d 7

@ 1 T
o, T G 2.0% 1 T T

Qﬂﬁaﬁiﬂ(m%mﬁmmﬂagﬁzom

2.0%
ol ) osed, A TR g
(b) 1000 m

00 m
C



66. Repetition of beds on a geological map may
be due to
(a) Unconformity
b¥ Disconformity
(c) Faulting

(d) Folding

67. The velocity distribution in turbulent flow
is a function of the distance ‘y’ measured
from the boundary surface and the friction
velocity p. and follows a
(a) parabolic law
(b) hyperbolic law

_Ac) logarithmic law
(d) linear law

68. While conducting flow measurement using
a rectangular notch, an error of 2% in head
over the notch and error of 3% in the length
was observed. The percentage error in the
computed discharge would be

T +6% (b) 1%

(c) -2.5% (d) Zero

69. A pipe is said to be equivalent to another if,
in both
(a) Length and discharge are the same
(b) Velocity and diameter are the same
(c) Discharge and frictional head loss are
the same
(d) Length and diameter are the same

70. A channel designed by Lacey’s theory has
a mean velocity of 1 m/s and silt factor of
unity. The hydraulic- mean radius will be
a) 2.5 m (b) 2m
(c) 1m (d) 0.5m

71. The pressure drop per unit length of pipe (AP/L)
in Laminar flow is dependent on the velocity,
viscosity and diameter. It is equal to

d? b) 32uVL
(a) 32uvV ( yd?*

e
VAT ST 3 iV 4 8uvV
« -, [c) FE , (d) d? i

N M -

ENGT - 04

66. U VATIHS TAfA T T i TRER & Fr

67.

68.

69.

70.

71

Tl 8
(a) fermfe=ma (Unconformity)
(b) 31EE¥A (Disconformity)

(c) 31qofen (Faulting)

(d) @281 (Folding)

Fyyrid warg ® 91 faaror € 9&3 & At wf gh
3R Erevr T . T OF T R TR

FE HT 2 |

(a) TEAtysH Fam

(b) BEwEIfIH fAam

(c) U fram

(d) g fram

U AFAHR @i (notch) 1 FAIT F1d g q819
o FE H, TiY & S A F 2% 6 7 aw
wrTs o 39 o1 qfe <at E | sfrfea fawsa
¥ yfersra Ffe gft

(). +6% (b) 1%

(c) —2.5% (d) =

T T I gER TR % ged el i § 3k gel A
(a) @vaTs qet faws o &

(b) ST AYUT AT TF &I

(c) frmsts qen o shid &1y o @

(d) AT quT SrE T B

St % fargia g R fe g H AE
%lm/s%ﬁ{mm@?lﬁ@mm

e il
(a) 2.5 m (b) 2m
(c) 1 m (d) 0.5m

mﬁm%mﬁmﬁﬂﬁ‘{mwm?
mmwu;%n,féwﬁﬁﬁm‘“ﬁ‘f‘
T8 R B

- oy SZUVL
@ 33.v yd?
8suV
32uV 8uv
© = @ g
) |



72,

73.

74.

76.

77.

78.

\)9”0.4
G o !.

The ratio of pressures between the (wo pm‘"‘H
A and B located respectively at depth 0.25m
and 0.75 m below a constant level of watet
In a tank is
(@) 1:2
c)1:4

b 13
(d) 1:9

A circular plate 1 m in diameter 1s suhmrrb’-"_d
vertically in water such that its upper edge is
8 m below the free surface of water. The total
hydrostatic pressure force on one side of the
plate 1s

(a) 6.7 kN
(¢) 45.0 kN

(b) 65.4 kN
(d) 77.0 kN

When there is an increase in the atmospheric

pressure, the water level in a well penetrating

a confined aquifer

(a) decreases

(b) increases

(c) does not undergo any change

(d) decrease or increase depending on the
elevation of the ground

A turbine in which the total energy of water
available is converted to kinetic energy is
called

(a) Axial flow turbine

(b) Reaction turbine

je) Impulse turbine

(d) Mixed flow turbine

Discharge per unit drawdown at a well is
called

(a) Specific storage dh'l/Spcciﬁc yield
(¢} Specific capacity (d) None of the above

A stream that provides water to the water
table 1s termed as
(a) Affluent

(k) Influent
) (c) Ephemeral

(d) Effluent

The observed annual runoff from a basin
of area 500 km? is 150 Mm3 and the
corresponding annual rainfall over the basin
during the same year is 750 mm. What is
the runofl coefficient ?
(@) 0.2 (b) 0.67

(d) 0.5

72,

73

74.

JFo;

76.

Wil

78.

Wﬁwmaﬁtéﬁﬂﬁ!nvmﬁm%ﬁ i
;\nm_ B i) meard gam. .95 mam?)f::im

v FE AW w1 A R o
() 1:2
) 1:4

(b) 1:3
d) 1:5

b m S ) v e e qM 8 eaa
- Y - " ‘l
Qanﬁ?nfms%rmhﬂmm&qﬁm:n

8mﬂ=ﬁét | ©12 & Uk W B BRZE zam
d &

(a) 6.7 kN
(c) 45.0 kN

(b) 65.4 kN
(d) 77.0 kN

qﬁmmﬁﬁﬁm&mﬁﬁww
U Hifirq senga =1 e 2

(a) TeaT 2

(b) wea &

(c) I wftad T wan 2

(d) SR it 91 & JHER gea a1 Fe 2

U XErgd fag gt i Iuerey Qof St 1faw w4
§ wuriia Bt ®, 38 Fad @

(a) A& <@ &

(b) wfafsean T

(c)mm

(d) frfda @ra Z@mEA

s 0 T SR g e R e R

(a) fafir ¥eR (b) faf wfa
(o) Ffr (@) TR AR I

sy wrerER (water table) ) Fd WeR w@ A
——E
(a) TEEH & (Affluent)

b) AMTEHh (Influent)
(") SEuHITeT® (Ephemeral)
((((I) iﬁsﬁm (Efffuent)

00 tam AT E A e i 5
mmlSUM"‘J'mm R 7
arfdd el 750 mmt R | Qe IR

(b) 0.67
(a) 02

(c) 0.4

(d) 0.5
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79.

80.

81.

(a) 2

The theissen weights of 4 rain gauges A, B, C
and D covering a river basin are 0. 15, 0.25,
0.30 and 0.30 respectively. If the average
depth of rainfall for the basin is 5 cm and
rainfall recorded at B, C and D are 5 cm,
4 cm and 5 cm respectively, what is the
rainfall at A ?
(a) 5cm

(c) 7cm

(b) 6 cm
(d) 8 cm

Water is to be lifted by a net head of 240 m.
Identical pumps each with specific speed of
30 and rotational speed of 1450 rpm with
design discharge 0.2 m3/s are available. The
number of pumps required will be

(b) 3

(c) 4 (d) 5

For one-dimensional flow without recharge
in an unconfined aquifer between two water
bodies, the steady water table profile is

._4) a straight line

82.

(b) a parabola
(c) an ellipse
(d) an arc of a circle

As per the recommendation of the Bureau
of Indian Standards, the shape of the lined
canal is

(a) Circular

(b) Trapezoidal

(c) Parabolic

_(d¥ Elliptic

83.

Geological strata between ground surface
and water table is also termed as
(a) Piezometric zone (b) Phreatic zone

\m adose zone (d) Saturated zone
84. The standard BODg at 20°C, when compared
to BODy; is /
(a) 50% O’fbr%g%

85.

(¢) 75% \i((g,r 100%
Sludge bulking can‘be controlled by

(a) Chlorination \/(M/Coagulation

(c) Aeration (d) Denitrification

79.

80.

81.

82,

83.

84.

85.
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T T M H FHFA T 499 A9 A, B,
c 3k D %1 @7 32 www: 0.15, 0.25, 0.30
3t 0.30 & | It IRF A a9l 5 om 2 3k
B,CaﬁIDWEﬁﬁTﬁaﬂm:Scm,ﬂccm
M 5cm e | AQU a9 1 8 ?

(b) 6 cm
(c) 7 cm (d) 8 cm
240 m Fraer ¥ T I 33mn s © | fafire 1l 30

1 g i 1450 rpm S 0.2 m3 /s fesres Fregmon
¥ U YT & | HIEWIS T H S Bt

(a) S ecm

(@) 2 (b) 3

(c) 4

Q S PRl o <ie T FTRING Sy § T &
o o i var & for R e WeRe @

() T Hiedt T@n

(b) T FFW (parabola)

(c) T dEgH (ellipse)

(d) g 1 Tsh =19

WI1d W 6T & Hegia & SAER FEHE T
HT HHR BT 2

(a) gETHR

(b) e (Trapezoidal)

(c) Wi (Parabolic)

(d) S (Elliptic)

Y WaE 3 o afee & e e 'R OA

(d) 5

_ Viwmamd |
(a) YT S (b) frufes
(c) ST S (d) ¥ERs I

20°C W W% BODg i e 5@ BODy @ A
St 2, @ g @

(a) 50% (b) 68%
(c) 75% (d) 100%

T T (Sludge bulking) 1 FERIEA
g Prafa R s v @

(a) FAITTRTOT (b) T

(c) AT (d) FEIH
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86.

87.

88.

89.

Uniformity coefficient of filter sand is given by

(@) B o)
D, D,
D ‘

fg) XX (d) —X
Dm

[

Which of the following causes a decrease
demand of water in per capita consumption ?

(a) Use of metering system

(b) Good quality of water

(c) Better standard of living of the people
(d) Hotter climate

The following data pertain to a sewage
sample :

Initial DO = 9.5 mg/L;

Final DO = 2 mg/L; Dilution = 1%.

The BOD of the given sample is

(a) 7.5 mg/L (b) 10 mg/L

(c) 7S mg/L (d) 750 mg/L

The tilt in an aerial photograph is radial
from

(a) Nadir point

V(b‘[ Principal point

90.

91.

(c) Isocentric point
(d) Plumb point

The staff reading at a distance of 80 m from
a level with bubble at its centre is 1.52 m
and when it is moved 5 division out of the

centre, the reading is 1.60 m. The angular
value of the bubble is

(a) 20.62" (b) 41.25"
(c) 14.55" (d) 25.5"

In GIS, the process used for modifying map
features to make them clear
scale 18 known as

at a reduced

(a) Cartographic Generalisation
Database Generalisation

(c) Topographical Encoding

(d) Data Filtering RORERSR

~

86,

87.

88.

89.

90.

91,
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et a1 gfawfis mories (Uniformity
coefficient) gy
() % (b) %

(0) %‘ @ 0%

10

ﬁﬂfﬂf@aﬁéfﬁﬂ%wmuﬁmmiﬁﬂﬁ
&4 Bt 2 2

(a) Hiefar yoreft @1 39am

(b) rt Y 3=t Ui

(c) SaT1 <1 ITW e =

(d) T Serarg

fr=fofiaa stier wh d3w F T3 & wafta 2 -
SRR DO = 9.5 mg/L;

AT DO = 2 mg/L; T = 1% |

& gt 77 1 BoD 2
(@) 7.5 mg/L (b) 10 mg/L
(c) 75 mg/L (d) 750 mg/L

T QRS BT F gHE (tilt) Frefafe &
Bl (Mfeaer) war 2

(a) 3w f&g (Nadir point)

(b) 7@ f&= (Principal point)

(c) Tl famg (Isocentric point)

(d) @ fa=g (Plumb point)

qAgH & H1Y TF & H 80 m H Gl WRTE 3

Ta% ¥ T 1.52 m ¥ 3 @ W@ ¥ A 5 fwrm

AT 2T S &, @ 3@ 1.60 m R | qEHE W

Foffg 7 R
(a) 20.62"

(c) 14.55"

(b) 41.25"
(d) 25.57
g AT U H F férg wrafas

i

wfgean @ Ed

() mtﬁﬂm ﬁ\?ﬂw
(b) T2 FATATEHIA

(c) e ST
(d) 221 et



l 97. Method adopted for

i

92.

93.

94.

95.

Jeflé

96.

An Engin(?er measured the distance between
two locations on a plan having a scale of
1 cm = 50 m as 600 m. Later, however, he found
that he used a wrong scale of 1 cm = 30 m
to measure the distance. The true distance
between the locations is

(a) 200 m (b) 250 m

(c) 500 m /Ldrr 1000 m

Streak of a mineral is

(a) Its appearance in diffused light as
obtained by rotating it

(b) Colour of the powder of a coloured
mineral as obtained by rubbing it on a
porcelain plate
Its appearance in thin section as seen
under a polarising microscope

(d) None of these

A road segment of length 1 km scales

6 cm on a vertical photograph. The focal

length of the camera is 150 mm. If the

terrain is nearly plain, then the flying height

of the aircraft will be
2500 m

(c) 250 km

(b) 25 km
(d) 250 m

If the probable error in single observation is
+0.04 m and that of the mean is+0.01 m, then
the number of observations are

(a) 4 (b) 10

(d) 64

Tangential method of tacheometry is
(a) Slower than stadia hair method
(b) Faster than stadia hair method
eferred as it involves less
computations to get reduced d'istance
(d) Preferred as chances of operaﬂc?nal '
error are less compared to stadia hair

method

measurcment of
theodolite in case
f well distributed
red from the

horizontal angle using
when several angles O

point/objects ar¢ to be m.easu
18

i ment station
v:}me o (b) Double angle

2) Repetition

bove
(c) Reiteration (d) All of the a

92.

93.

QG

95.

96.

97.
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1 cm = 50 m ¥ T EH T T & q famgat
ﬁaﬁ@@m%600mm KRk
var 9 % 384 1 cm = 30 m &1 THd A
a9 % g wdm fem an | @ 31 fagadt & e
&I arafas off 2

(a) 200 m (b) 250 m

(C) 500 m (d) 1000 m

T @i $ 9l daT (Streak)

(a) 3! TAR T N1 Q@ s & wwe
e

(b) T T @i & o1 & T S e e W
& T WA &

(c) T Y1 (polarising) qEw 4 { Tl qm
3@

(d) ¥ & F1E 7€

U STt BRITTE T 1k H TS H E5H
%1 WA 6 cm gEIA 2 | T F G TR
150 mm 2 | 3f &7 ¥ aHae 2, @ g1 Je
1 I Al S=rs Bt

(a) 2500 m (b) 25 km

(c) 250 km (d) 250 m

2 R e o 61 EWred 3R £0.04 m R AR IEF
aftaa 61 3R +0.01 2, At Jwwit < ww &

(a) 4 (b) 10

(c) 16 (d) 64

FEa (Tacheometry)iﬁﬂﬂ-quhg

(a)éﬁ,mm(stadiahair)ﬁhaﬁrgmﬁtﬂm%

(b)é%man(stadiahajr)ﬁhaﬁgaméaai

(c)mrﬁné@ﬁmaﬁ%mslﬁmm
2R ¥ FRO gE! Frfirehar & S 2

(d) Rfean A (stadia hair) fafer 1 g A
Frat=m e H w9 R

A B 6 T ¥ R e wé faf fore

frsierense 1 39T F@ §e =gl wE @ faka

ﬁymﬁ%#aﬁvﬁaﬁ@ﬁmmﬁ

a1 9 i fafy

(a) FeftETm (b) T T
(c) frter (d) IR ot
%S
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98.

99,

Two straights AB and BC have the bearing
of 70° and 1207, respectively. They are to be
connected by a circular curve. The deflection
angle will be
{a) 130°

(b) 70°
(c) 50°

(d) 120°
The following boundary condition exists at
the wall (y = 0) in a boundary layer
(a)u=uU

dP
b) — = —ve
(b) ax - Ve

(C) TO= 0

dd)u=0,v=0

100.

A hydraulic ram works on the

JA Principle of centrifugal action

101.

102.

103.

(b') Principle of water hammer

(c) Principle of reciprocating action
(d) None of the above

Uniform flow in an open channel exists, when
the flow is steady and the channel is
(a) Prismatic
(b) Non-prismatic and depth of flow is
constant along the channel
rismatic and depth of flow is constant
along the channel
(d) Frictionless

For a hydraulically efficient rectangular
channel section, the ratio of width to normal
depth is

(@) 0.5 (b) 1.0

(c) 2V3 2.0

As the depth of immersion of a vertical plane

surface increases, the location of centre of
pressure

(a) Moves apart from the centre of gravity of

the area ‘
Comes closer to the centre of gravity of

the area -
(c) Coincide with the centre of gravity of the

area
(d) Remains unaffected

f B

98.

99.

101.

, : -18-

100.

102.

103.

ENGT - g4

21 7 AB 741 BC 1 f29am 00 70° 747 1,
2 | 7R uE FR TF 7 A I 2, A iy
F0 F91 7 7

(a) 130°
(c) 507

(b) 70°

(d) 120°

Frefafaa im zm vz o 79z 4 daw (4 - ¢
T ArE 2

fa)u=U

dP

(b) — = —ve [@FWFEF
)dX € )

() 1= 0

(dju=0,v=0

U%F Za=leid 2% (hydraulic ram) F18 & 2
(a) F9F=1 =12 71 fagia

(b) 991 71 F1 fagm

(c) TEITE F12 F1 fagE

(d) 39 B & =15 TE

U G A § e var 79 A 2 & 99
(a) fu=iim

(b) M-r=drg 3 vaz 65 mevd S99 F o
for 2

(c) Brstfia 3k v H1 TEd 7 g fRn i
(d) =¥vrfEa

T FEElic 28 AEAER TR F I F R
=reré 3 A= TEUE # FgaE 2

(a) 0.5 (b) 1.0
(c) 243 (d) 2.0

& FETR T F HHead (3FOH) i = 39
33 gedl 2 gaE F w5 @ =
(a) &7 oA F3 A Q EA R

© mgmiﬁmmﬁﬁ%
(d) e 7 B & "
) L
d_ -
j%/\ '\1



104. Hydraulic jump occurs when
(a) Flow is super critical
(b) Flow is sub critical
(¢) Flow is super critical and downstream

depth is adequate
(d) None of the above

105. In a model experiment with weir, if the

dimensions of the model weir are reduced by
a factor K, the flow rate through the model
weir is the following fraction of the flow rate
through prototype

Jz)/KS/Q

(€) 1

(b) K2
(d) K2

106. In differential manometer used in a

venturimeter along a water pipeline, if an
error of 2 mm has been made in observing
a differential head of 10 mm, the percentage
error in pressure difference is

(a) 12.6 (b) 25.2

) 20 (d) 10

107. Two identical pipes of length L, diameter D
and friction factor f, are connected in parallel
between two points. The length of a single
pipe of diameter D and the same friction
factor f, equivalent to the above pair is

(a) V2L ) Y4
(c) V\/—Q— ‘/(ﬂ}/ %

108. With rise in pressure, the bulk modulus of
liquid
(a) Remains constant
(c) Decreases

Increases
(d) None of the above

109. The highest velocity for flow of water of
viscosity 0.02 Poise to be laminar in a
10 mm pipe is
(a) 100 cm/s
(c) 300 cm/s

(b) 200 cm/s
‘,(dr400 cm/s

| is taken over a

110. When an irrigation cana
g is called

drainage channel the crossin
(b) a super passage
(d) none of the above

(pv 4

o

/"4'\‘ v ol

an aqueduct

(c) 2 level crossing

A pLA

104.

105.

106.

107.

108.

109.

110.
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T 581 39T (Hydraulic jump) 7@ 211 £ 5
(a) wEE JFfosrifas &
(b) ¥ETE IHITrh B

(c) W& ifesmifeeh TuT JgyETE TEUS vaTT 3
(d) 3w § § IS T

e & w1y s wiga W@ ¥, AR aiea F smm
H Th FH K § 9HT I061 2, qf Hised f &
ey ¥ g ot IeIeEY % A @ YaIE &
i 3w 2

(a) K5/2 (b) K2

(c) 1 (d) K2

Tl % 9EYeE o U aAgefier % 9N g 3R
H A F forw gy FHat AR w1 ST
ST £ 9 10 mm 3R 88 &t e § 2 mm H
3R & 2, it qura siaw # wferwra A 2

(@) 12.6 (b) 25.2

(c) 20 (d) 10

21 T T igd k! @ L, SArg D e gy

i 8, 2 figail & o gmmHR 7 W18 TR |
T A F g, T E9 Fi e 2 e

@ D 7T FHH =N T f
(@) V2L v Y

© 75 @ Y4

Za7@ % wod ¥ WY, 59 1 Ui A (bulk
modulus)

(a) ©F WHF AT (b) Wed R
(c) T 2 (d) Il § & B T

0.02 Poise ¥ TR a0t UHY &1 S§E Weftd T
¥ fore g &1 e A 10 mm ¥ & fog
Ll

(a) 100 cm/s
(c) 300 cm/s

F T R TR T A $ SR Y A
3 @ 59 s H FEd &

(b) 200 cm/s
(d) 400 cm/s

@ @ TEER  (b) ThER N
(o) e () S A
v A Sorf _)/ Lede

. A .
e Fuaed ., (" et AL



L

111.

Ja'1.32 m

112,

113.

...\.u ()

&% by
~n
<
Lacey’s scour depth for a stream, carrying a
discharge of 3 cumecs per meter width and
having a silt factor 1.2 is

(b) 2.64 m

(d) 4.32m

The discharge passing over an ogee spillway,
per unit length of its apex line is proportional
to (Where H is head over the apex of its crest)
(a) H (b) HZ2

(c) H% (@) v

Lysimeter is an instrument used to measure
(a) evaporation

(b) infiltration

(c) 3.96 m

_{c) evapotranspiration

114.

115.

116.

117.

118.

{5000 Km?

(d) transpiration

The relation between duty D in
hectares/cumec, depth of water A in meter
and base period B in days is given by

1.98B

. 8.64 B
D \/[,bfA: D

5.68 B 8.64D
D

(@) A=

(c) A=

(d) A=

The use of unit hydrographs for estimating
floods is generally limited to catchments of
size less than

(b) 500 Km?

(d) SO00 ha

According to Khosla, to keep the structure
safe against piping, exit gradient to be
provided lies between

(a) 0.10 and 0.15 (b} 0.15 and 0.20

(c) 0.20 and 0.26 (d) 0.25 and 0.30

(c) 10 Km?

Lateral infiltration is the major drawback in

the following type of infiltrometer as
Simple tube (b) Double ring

(c) Sprinkling type (d) Rainfall simulator

Isolated storm is represented ina hydrograph
wit
Single peak
(b) Multiple peak
(c) Complex peak
(d) Without single peak

111.

112.

113.

114.

118

116.

TLZ:

118.
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@Wﬁﬂﬁﬁéﬂ?Scumecsﬁﬁrﬁaw
TR

3R fooe i 1.2 2, % fog o 6 Fem
(scour depth) gt

(@) 1.32 m (b) 2.64 m

(c) 3.96 m (d) 4.32m

T AT o g gehTE e § U S e §
FR F oA e fewart st R (@R H 3w
2 & Wi & I

(a) H (b) H2

(c) H? (d) H2

foreifter v syt 2 R swm

A9 % foru fapar stman @

(a) STsdieRTor

(b) 3Td:¥de

(c) TSI Jedsia

(d) T

S () D (R gfe i ) @ e A
f{sp%A(rﬁaﬁ)aﬂtmmth(ﬁqﬁ)%ﬁa

1

EEL g fear mn ? ,

1.98 B 8.64 B |

A= b) A= A

@) A=23C (b) = |
(© A=5.6DSB @ a=3:064D

1T F1 A TTH % e whet wrgios 1 3w \
w1 Frfoflad § & w0 amew g 8 () |
& fore foran wan 2

(a) 5000 Km?2 (b) 500 Km?2

(c) 10° Km? (d) 5000 ha

W < JFER HE T O & gt e & R
ofe Afeae o 3 e suersy s s g 7

(a) 0.10 3/ 0.15  (b) 0.15 3 0.20

(c) 0203 0.26  (d) 0.25 3N 0.30 |
ured Fa: %A e sPeegndier # wie w1 @ Q@

TR AT @ .
(a) foraet =@ (b) s=a1 fm
(c) Frgwma fafu (d) =uf fmgetet

o qFF H1 T TGS § Gt S @
(a) et i g/

(b) Fediae dis TR

(c) i dieh g

(d) fern frer d 2rT




19. The deficiency of soil moisture through the
earth surface is termed as

(a) Rainfall (b) Runoff
() Infiltration (d) Water table

20. In a CBR test, the load sustained by «a

remoulded soil specimen at 5 mm penetration
is 120 Kg. The CBR value of the soil will be
(a) 9.2% (b) 7.3%
(c) 5.84% \9)/ 2.4%
The type of transition curve that is generally
provided on hill road is
(a) Circular

__{by Cubic parabola

+—le) Lemniscate
(d) Spiral

[21.

122. It is a common practice to design a

highway to accommodate the traffic volume
corresponding to

(a) Peak hour

(b) 15 min. peak period
Je)’f‘ioth hour

(d) Average Daily Traffic

123. The safe speed on transition curve of B.G.

track can be calculated by using formula
(@) 4.35JR - 67

(b) 4.4JR-70

(¢} 3.65VR-6

(d) None of the above

The maximum limit of super elevation on
B.G. track in India is
76.2 mm (b) 83.2 mm

(
(}c)yml.a mm (d) 165.1 mm

124.

As per Indian Road Congress (IRC)
recommendation, : :
horizontal curve on urban roads in plain
terrain when the design speed is 69 Km/h
and super elevation is limited to 7% s

120 m (b) 1256 m
(c) 130 m (d) 135 m

125.

2
274

minimum radius of

119,

120.

121.

122.

123)

124.

125.

ENGT - 04

gwaﬁméqmweﬁmaﬁ e
|

(a) HEHTA (b) T3HTE
(c) Ffhedwm (d) FeT-Fe

U &z gligw d, w99 7Y gen g g
5 mm B¢ 9§ R B30 WR 120 Kg R | 9
&t w4t 3. w1 W A

(@) 9.2% (b) 7.3%

() 5.84% (d) 2.4%

(transition curve) f&@n war 2 77 2
(a) gEERR (Circular)
(b) B9 9&e™ (Cubic parabola)
(c) AffERz (Lemniscate)
(d) Feh (Spiral)
qrAETd S HE $ GHEING WA S foe TR
e i FHR 3N B
(a) 9 954
(b) 15 fiFe = srafy
(c) 30 | eI
(d) &= FrarEE w1 e
T 1 3TN B LA, IF F HhA T
o geire i < o S w2
(a) 4.35VR-67
(b) 4.4JR-70
(c) 3.65VR-6
(d) I F F HrE TE
il B.G. 99 @5 % Y WRRYR (super
elevation) #1 Jfuean Hm frefafea ?
(a) 76.2 mm (b) 83.2 mm
(c) 101.6 mm (d) 165.1 mm

ity e I (IRC) ) wegfi & FFER T
mﬁmmweoxm/htmt@m
(super elevation) 7% % difta & wed wg% §
Afast @ & =paw fen wnft

(a) 120 m (b) 125 m

(c) 130 m (d) 135 m



